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B0l (7o FEXRUZEOLEY | me/|0.00143m|0.001 A1 0.001 A [0.001 41| 0.00 14w | 0.00 1 A& |  0.0224 F
HO2 |U7r R OEDILEY mg/0 |0.00027 [0.0002747#5 000024 | 0.0002741#5 | 0.0002K3 | 0.0003 |0.002LL F (& &)
HO3 |=v 7V ROZED/LEY me/0 [0.00153i# [0.001 K375 0.001 A4 [0.00 14415 | 0.00 1 A7 |0.00 1A | 0.02LAF
HO5 |1,2-v7unxiy me/0 |0.00044475]0.0004 47 [ 0.0004 4475 0.0004 K7 [ 0.0004 4475 | 0.0004 K7 0.004L4 T
HO8 |Mimy me/0 [0.00154i#[0.001 K375 0.001 A4 [0.00 1445 | 0.00 1 A7 |0.00 LRG| 0.4LAF
HO9 |721 iy 2-F~FL) | ng/o -|  0.005 - - - -| 0.08LLF
H13 [YZ/mrrT b=V mg/0 - —=| 0.001 |0.001Ki|0.001 4155 —[0.01 L F A E)
H14 |[fakzed—n mg/0 - -l 0.002 |0.0015&7#|  0.001 —0.022L F (5 7E)
B16 |/t me/0 - 0.8 0.3 0.8 0.4 -l 1F
H1T |[Baeyn~r 5oy nsE) | ne/ 66.1 63.7 64.4 81.0 64.7 62.3| 10~100
B18 (oW RUZEDOLAY | me/e|  0.006 |0.0055K1|0.0054 [0.00541i#|0.005Aw | 0.022 | 0.01LAF
H19 | pes mg/0 1.8 2.7 - - - 0.9 20F
H20 |1,1,1-h)rmu=gr me/0 [0.00154i#[0.001 K375 0.001 A4 [0.00 1445 | 0.00 1 A7 |0.00 1A |  0.3LAF
H2l |AF-t-7Fr=—71 (MTBE)| mg/0 |0.001A4:1if|0.001 41 0.001 A4ii | 0.00 1 Aiii | 0.001 A3 |0.00 1A | 0.0284 F
Hoz (0 e [m0| 45 2.1 - - - 46| suT
H23 |R5RE (TON) 1 0 0 0 0 1| 3TONLLTF
H24 (558 mg/0 75 103 - - - 93 20~200
H25 | -3 4.2 | 0.1ATM| 0.1 | 0. 1A | 0. 1A 1.8 1
B26 |pHff 7.9 7.7 7.6 7.3 7.7 8.0 7.5
H27 |BRM G774 -0.5 -0.8 - - - -0.6 —1~0
H28 |7 B {8 /mL] - - 0 3 1 —|2000L4F (i)
H29 |1,1-¥/mpxsLy me/0 |0.0017R4i5|0.001 R4 0.001 A5 0.00 1 A3 {0.00 1 A7 [0.00 1 A | 0.1LAF
B30 |7AI=UAROZEOAY| ne/t 0.07 0.05 0.04 | 0.02K75 0.05 0.06| 0.1LF
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HOL |ToFELROZD(LEY | me/o 0.001 At 0.001 itk 0.001 it 0.001A45E  0.02LLF
HO2 |7Fv RUZEDILEY mg/0 0.00025K4#i|  0.00027K4w5|  0.00027K3w5|  0.00027K3i5] 0.002L4 F (& &)
HO3 |=vs A ROZEOEY me/0 0.001 it 0.001 itk 0.001 At 0.001A5E  0.02LLF
HO5 |1,2-Y7mmxsy mg/0 0.0004K3%|  0.0004K7|  0.0004K7%|  0.0004K7w|  0.004LLF
B08 |Mrxzr me/0 0.001 AT 0.001 i 0.001 A 0.001 i 0.48LF
HO9 [72VEEY (2-=F A~Fn) | me/o - 0.001 i - -l 0.08LLF
H13 |Y7on7&b=kL me/0 - - 0.001 At 0.001 | 0.01LL F (& 7E)
H14 [fukraz—n mg/0 - - 0.001 0.002 | 0.022L F(EE)
H16 | me/0 - 0.9 0.5 0.7 1B F
H17 |[pAswn~s 5oy 25GEE) | ne/t 81.3 82.8 80.6 80.8 10~100
H18 [~ A RUZDILE mg/0 0.005Aii 0.005A4if 0.005Aii 0.005A4if 0.01LLF
H19 |3 iR mg/0 35.3 14.5 - - 20LLF
H20 |1,1,1-M)ronxzzy me/0 0.001 it 0.001 itk 0.001 it 0.00147E|  0.3LUF
H2l |AFr-t-FFro—Tn (MTBE)| me/o 0.001 3 0.001 Ak 0.001 Al 0.001K3w  0.02LATF
foz | e sy | 10 1.2 1.6 - - swE
H23 [RAFE (TON) 0 0 0 0 3TONLLTF
H24 |ZRREEY mg/0 78 90 - - 20~200
H25 | i3 0. 1A 0. KT 0. 175 0. KT 1
H26 |pHfi 6.8 7.0 7.3 7.3 7. 5FREE
H27 R (G 7ITHER) -1.5 -1.2 - - —1~0
H28 |TE)E 528 {8/ mL - - 2 2| 2000LL°F (B &)
H29 |1,1-¥/maz=FL mg/0 0.001 i 0.001 A7 0.001 A7 0.001 A7 0.1LAF
H30 |7A=0AROZO(LAY | ne/t 0.024 i 0.024i% 0.024% i 0.024i% 0.1LLF
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w5 | mmemwEn | ww | mk | 0 | wke | sk | ke
HOl 7o FerROZDE| me/0 | 0.0017 | 0.001 1| 0.00 1 A -1 0.001 4] 0.02L4F
HOZ |77 ROZED(LEY me/ 10.00027K:7%|0.000247 [0.0002 K15 -10.000247 [ 0.00281 F e )
B03 |=or A kOzofba®| me/e |0.00157H | 0.001A4 | 0.001 A -10.00177#| 0.0201F
HO5 |[1,2-YZmnxgy me/0  [0.000453750.000445i# [0.0004 i —[0.0004 | 0.004LLTF
HO8 |hxr me/0 | 0.001Ai#| 0.001 455 | 0.001 AHi -1 0.001 AKwi| 0.4L4F
HO09 |72y @=Fr~Fin)| me/o - 0.001 A5t - - 0.005| 0.08LLF
B13 |[Yzun7eh=rL me/0 - - 0.001 - 0.001 [o.01L1 FeErE)
H14 [fakrmes—1 mg/0 - - 0.003 - 0.002 [0.0224F ()
H16 |fEREs% me/0 - 0.5 0.5 - 0.6 LELF
H17 |reos~rxeoys%@E) | me/0 83.1 82.5 78.4 - 81.0 10~100
H18 |[wv W ROZOLAY| me/o 0.005 | 0.005Ai | 0.005 A Vil -1 0.005K]|  0.01L4F
H19 [ mg/0 0.9 0.9 - - 1.8| 20UTF
B20 |1,1,1-F)rnnzzy me/0 | 0.001i | 0.001 K35 0.001 A i -10.001%E 030l F
H2l |77 Fr=—rrmmse | me/e [0.001A4# | 0.001 4w 0.001 A ~| 0.001 A 0.02B4 F
T
22 g&v‘/ﬁ‘/ﬁéwuw%ﬁ% me/0 3.1 1.8 - - 1.6 3BLF
H23 |R5ERE (TON) 2 0 0 - 0| 3TONLLF
H24 |ZZFEIREY mg/0 115 108 - - 129 | 20~200
H25 | i3 L5 | 0.1 0.1Kdm - 0.1 1
H26 |pHf# 8.1 8.0 8.0 - 8.0 7.5%p
H27 &tk Gr 7T %) -0.2 -0.3 - - -0.3 —1~0
H28 |fEm sl s {#/mL - - 2 - 3 |2000L0 F (178)
H29 |1,1-¥/mnxFLy me/0 [ 0.0015 | 0.00147i | 0.001 A5 ~| 0.001 A |  0.18LF
B30 [7AR=vaROEoksn| ns/o 0.03 0.04 0.04 - 0.04 | 0.1LLF
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HOL (7> FELROZOMAEY | me/e | 0.001A0| 0.001K7M| 0.001A441| 0.001AKm| 0.02L0F
HO2 |77 RUZEDILAY me/e | 0.00027R3#i| 0.000274w| 0.0002K4#i| 0.00027 5] 0.00284 F )
HO3 |=vr A ROEDILAEY me/0 | 0.0014H|  0.001AK7m 0.006 | 0.001Ai| 0.0280F
HO5 |1,2-Y/moxsy me/0 | 0.000475| 0.000447| 0.0004A75| 0.0004A7| 0.004LLF
B08 |FLT me/0 0.001Ji| 0.001A4#5| 0.001AJi| 0.001A47M|  0.4LLF
HO09 |74MEEY -=F L) | me/e - 0.005 -| 0.001AJ| 0.08LLF
H13 |[YZma7ehb=FIL me/0 -l 0.001A1ifs - 0.001 [0.0121 F (&)
H14 [fakzad—nv /0 - 0.001A¥ - 0.003 [0.028L F (i)
H16 |f&gHish mg/0 - 0.4 - 0.4 1B F
H17 |[BAvwh~s 3o NEGEE) | ne/o 58.8 68.8 48.5 77.6| 10~100
H18 |~r B ROZDILAEY mg/0 0.005Ai | 0.005A4 i 0.287 | 0.005Aif] 0.01LLF
H19 | me/0 16.3 10.0 15.4 09| 20uF
H20 |1,1,1-pUZmm=sy me/0 | 0.001A0| 0.001K31| 0.001A0| 0.001AK5m| 0.3LF
H21 |[#FA-t-7Fx—7 L (MTBE) | me/0 0.001K4i#| 0.001A4m| 0.001AK4#| 0.001A4m| 0.0284F
foz (I e | 9/ 1.0 0.9 1.2 Lo suE
H23 |RA5GRE (TON) 0 0 1 0| B3TONLLTF
H24 |ZIEIREEY) mg/0 98 122 109 128 | 20~200
H25 | I3 0. KT 0. 175 0.9 0. 1A 1
H26 |pHIf# 7.0 7.3 7.0 8.2| 7. 5
H2T Rt (T4 T #6850 -1.4 -1.1 -1.6 -0.1 —1~0
H28 |Em a5 {#/mL - 4 - 3 |2000L4F (&)
H29 [1,1-YZ7mpzFLyo mg/0 0.001A4Ji| 0.001A4M| 0.001A7| 0.001A4]| 0.1F
B30 [TAI=ULRUZEDLEY | me/e 0.024|  0.02K%|  0.02775 0.04]| 0.1F
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